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2K il R BER (ke) G () G o A e
30100 722 A E 15 572 43 43 32 BN
Y3122 3 = KR 10 378 38 38 38 B
31200 [LUHGE 3 324 22 22 22 N
Y3015 74 2 346 43 43 43BN
31700 Y 30 1, 890 648 648 594 By N
31800 %9 AL 29 4,001 49 1 11 &M
31900 ¥ 10 2,481 378 19 119 5P
36800 HoX k9 6 5,022 864 864 810 &M
34400 h~ b ] 20 4,752 238 238 238 BN
34460 =k F & 6 3,024 540 186 486 5N
35220 XM ERHHT 2 707 378 378 216 BN
35220 | E M ERHE 16 12, 717 9,270 9,270 3,447 BWM
35300 (t— R 2 2, 527 1,404 1,404 1,404 W
35303 AFf v TEZALD 466 276,719 47,174 47,174 16,203 BN
35303 | RS v TEXALH 18 6,443 410 4100 292 BN
Y3026 Afy7 FEx AL D (3) 2 2, 160 1, 080 1, 080 1,080 B
Y3115 ExA LD 194 97,087 49,610 49,610 1, 131 BW
Y3033 ZANAL 21 6, 242 324 324 173 B
36200 f5EnE 20 2, 700 140 140 130 &M
33300 Ty Y — 17 1,993 65, 16 16 BN
33303 AF v s Tyl oy 1,588 76 16 76 FhN
38100 AL\ ioif 6 4,795, 864 864 756 EM
Y3018 743 9 486 54 54 54 k5
Y3030 WA () , 3 5,422 1,728 1,728 1,512 BN
46108 | &AM ED I | 73 85,266 389 356 302 E5N
53456 7= 7n 7l 3 702 281 281 281 M
Y5010 HbSAXx (&) 8 4, 390 648 648 486 5N
30100 72\ Z A 7 L 10 1,512 1,5120 1,512 1,512 IR
30300 A% L 50 11,880 2,376 2,376 2,376 FEVE
30300 AZ B 170 5,443 378 324 281 BEVLE
31100 (A% ’ 255 5875 1,188 324 238 FERES
31200 L HE 4 648 32 32 32 FEVL
33703 G 2 972, 972 972| 972 f it
33810 HEER 8 2, 592 65 65 65 FEYL
37440 AL 2 896 896 896 896 HEVIE
Y5005 (4 KEN 10 3,132 1,566 1,566 1,566 K5y
31700 ¢ Y 210 18, 198 1,296 594 594 LI
31800 135 AR i 1,188 59 59 59 JE L
31950 FRE 12 3, 996 1,080 972, 972 FEVL
31900 fX 5 4,320 432, 432, 432 YR
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K K Hi S il i el
g I‘{l’J ¢4 - (kg) () R i S e Hb (HL{T)
31900 hE 32,160 432 432 432 BB 53 (5008)
31900 X 5 2,419 324 324 173 BEVL R 103 (500¢)
31930 —h¥ - _ 9 2, 160 32 22 22, K%y 90%%¥
32800 (ZH 7 2 1, 836 97 97 76 E I 207
34300 72 2L 25 10,260 2,062 2,062 2,052 EEMLE 55— %
34300 7t L 15 5400 1,944 1,728 1,728 6K 3h—=
34400 b~ k L 36 7,344 918 918 702 FEWL R 94— A
31460 I=L & M 5 4, 666 194 194 194 BERES 240807
34100 HI 2L 15 6,480 2,160 2,160 2,160 FE)RE 34 —=x
34100 #pC - L _ 10 3,888 1,944 1,944 1,944 RS 2y —A
34100 /K B 15 3,560 1,188 1,188 1,188 MWK, 34 —=
34500 E—<> M 12 13,608 113 113 113 BB 1204
34571 /X7 U I () 4 5,400 216 216 216 i [E 2511
34572 ST Y () T 2 2, 160 216 216 216 #i[x 10{
36600 7-FNX 7 | 100 10,800 2,160 2,160 2,160 ALifi 54— R
136600 7-E X M 20 L728  L,728 1,728 1,728 dbiEiE 14 —=
36600 7~E¥h¥ Lk 80 10,368 2,692 2,592 2,592 ALl 44—
37200 Lk 9 7% 2L 4 1,944 1,944 1,944 1,944 tfi[g 1=
33400 L & % 12 1, 490 65 65 59 R 24(H
33400 L 4 2 ‘ 6 907 65 65 65 B YLK 1444
33410 Y=—L 4 L9719 1616 16 ERE 450
31310 AP o 8 L2960 32 32 soqEm 408
31500 /MAKE 12 4,212 1,404 1,404 1,404 BEWLE 34— %
31500 /IMAKE 8 2,592 65 65 65 VL& 40%%
32500 HOE 3 2,592 864 864 864 Hli 34— %
32500 HoNE 7 A 7 292 5 5 1t 705
37560 BIIE ' 1 3,456 432 432 432 K%y 85w
38521 HeLsey 3 3,402 113 113 L3 @M 30%%
38604 T Y L XEH 6 6, 156 103 103 103 fif] 604
38620 I 3 1,944 65 65 65 Iy 304%
41410 [ LEL 15 10,260 10,260 10,260 10,260 7 AU J 14 —=
Y4017 Hr 5L - 7 60 11,664 2,052 1,944 1,728 ¥ 64 —x
49100 SFF 72 L7120 3,888 2,808 2,592 7 (UL 6h—A
49300 (¥ 4 T — . 15 10,368 3,456 3,456 3,456 f@li B —2
&t 2,339 770, 643 | | |
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